AT ARSEE /NN N S
=L =
1 = X i =
B LN T
B
EFREMIE D V
H s HER2 HERAT L (H ¥
T Hi
ER) A 07409 H 12H
™ = % &5
CX S
)
B 4 %
T &= & fr B U T 0 B T ok L H N
T *® 4 e B/MR X E AR e B n T 9 (X HE#R)
T =x #
4 F 1,
X AR E T
RO Swa)) FERL=197.0m, ©/4-7{/L =450.0m, b y}{/L=4.0m
VXK@ GaWET L, BES Fm) FEFRL=508. 0m, M ybi4y L =47.0m
T #= O = FiX@ (kBT J5E) FEHL=125.0m, tv)-7{vL =200.0m
3t FEHL=830.0m, t/¥-74¥L =650.0m, I v}{vL =51.0m




B

T o O

N SFI064E

EHRS R TH

oM A4 A A

BRTHEAHLEA A

HOfl @ A o X

FAREQR

B bR B I8 AR B

SFI6EE10H 1 H AT Hetka ok

A w1 FE AR

BITHEIH SR




= =
= = =

d ||T[|
Rl
|
|

[

L P LN

Rk B X Fhti s it E

T 4 i B/MRZIX B R Al 2 e R L (X
FRA AL

s (=) ZAESS

FA I X5 S it HL AT

R 6 P X FARE@

HififiE FHAE A B AMTHEAA LA Ak

FEMARERE H4E A B AF6LE10 1 B AT BAsAR

AN 4R A A SFITEI A At
TR G/ R R [ YAt ] [ mitAt ]
ATFAZR (%) 35%%Mz40%LLT
T Y T H
A TE X5y — A EA D (2) T Of
BB BRI A B LA
LHIRFE LHIRFEAR D E 2 TH720
THEBRLR 10. 00

P LN T




R B/ MEIX E IS AR A AR R TF (KEHR)
A & 3
# BH - I f& | m % & BAAT B i %A A BT 2 i |
T H00100
1 =
RITFEE H00200
1 =
B E T%E01 K0001
1 =
&t Q00001

A LM




e B/MRIX JERAZ B R LE (DEi#R)

AT FORE

iy
!;%l
T

# B - T & - F B - M H o B BAAT B i & %A B A0 LA R i L2
B E TE01 K0001
1 =
RO AR M0001
1 = no1 &
XK@ B L RS MO002
1 = B 25
THEXE kB (EZITASZE STHT) M0003
1 = o 3 &
% T E0001
AEFHER 1 = Bl &
T R P0000001
IR E R HO3701
1 =
IR E (1) H00803
1 =
HIB IR B =Ry Q00910
1 =
i Ty H00600
1 =
R H Q00601
1 =
THIE R 5 HmE A H00620
1 =

A LM




e B/MRIX JERAZ B R LE (DEi#R)

AT FORE

iy
!;%l
T

# B - T & - F B - M H o B BAAT B i & %A A BT 2 i L2
BS5 BRE INFLAR (B E o SR A IE) SG001-0004
1 2V i1 5
T =HJEA H00500
1 =
— R PR A Q00501
1 =
T HfliE H00400
1 =
THE AR XS 40 Q00401
1 =
&t Q00402
[EZRL )




i BV X

B A 2 s A L (i)

[ %

1 5 BAANE (M0001) ]
AP ORE A S Wil

Y

4 g ¥ o B BAAT il %A A BT 2 i |
X R T X104040
1 =
KR (AR =) % & T (FEh) S7001-0001 SR
e Se R = ) 197. 000 m Wi o2 B Ji ThE 15cm
X R (A=) 3% & T (FEh) S7001-0002 T #%
A= R ) 450. 000 m i 3 5 Jii THE 15cm
R (AR ) B E 1 (FEh) S7001-0002 T #R
e = RE) 4. 000 m i 3 & Jiti TH& 15cm
&t P0000001

A LM




e B/MRIX JERAZ B R LE (DEi#R)

[ % 2 5 WHIEM0002) ]
CHEHKG EHET L S S

Y

4 77/ I -} ¥ o B BAAT il %A A BT 2 i |
X R T X104040
1 =
KR (AR =) % & T (FEh) S7001-0001 SR
e Se R = ) 508. 000 m Wi o2 B Ji ThE 15cm
X R (A=) 3% & T (FEh) S7001-0002 T #%
A= R ) 47. 000 m 3 5 Jii THE 15cm
#t P0000001

A LM



e B/MRIX JERAZ B R LE (DEi#R)

[ % 3 & WHIEM0003) ]

TFEHKG KRR (BTS2 AT X B
4 7 i ¥ # & BAAT i %A A BT 2 i |
X R T X104040
1 =
AR (R =) B E 1 (FEh) S7001-0001 e
e Se R = ) 125. 000 m Wi o2 B Ji ThE 15cm
X R (A=) 3% & T (FEh) S7001-0002 TR
A= R ) 200. 000 m i 3 5 Jii THE 15cm
#t P0000001

A LM



e B/MRIX JERAZ B R LE (DEi#R)

%
[ % 1 5 ¥z Eo001) ]
E% T AZEkE s

Y

4, | ¥ ¥R BT (il #H B0 A 7 5 fii
AR BB $2580-0001
Bl A2 : 2 A 2.000 H w4 B
7 P0000001
BN47- 0 P0000002

A LM




e B/MRIX JERAZ B R LE (DEi#R)

[ 5 1 & ji THAHZR (S6001-0004) ]

UGS BRI AR (B E X SR A 1E) X %y
4 77/ I -} ¥ o B BAAT i & %A A BT 2 i |
B PR N AR (B E o SR A IE) T#0001
1 =
7t P0000001
BN47- 0 P0000002
B H#=62/113=0. 5486725663716814159292035398 = 0. 55
HHIEE=0. 55X 1. 2=0. 660% \
HRIEE GAIR 2 BAHIE) =0. 66 X 1. 05=0. 6930=0. 69%
HIE A P N 4E = 726451 X 0. 69% =5012=5000
[5fF] ‘
[A] = BSGEHENGM T EE (M) @ [B] = 113.000 T (B0
[c] = 62.000 THMMFOEE R (HH) (D] = 2  BK2 BFIEXS #EHY
[E] = 1 FEE5THEXS —fxtA [F] = 3 DAKR2 B X4y 48K (H BAL)
RN




e B/MRIX JERAZ B R LE (DEi#R)

[ 5 2 & ji THAHR (S7001-0001) ]

KRR =) s E T (FEh) Me: At 1,000.000 m 3419

(FEHR , i CiE 15cm )

4 wmoo- #l ¥ # & BAAT i & %A A BT 2 i | £
AR (524 [FR) TTBOO1_M R T P T S RS ) B
15cm 1, 000. 000 m
B~ R TT7104 JIS K 5665 3f&
3FELE JIS K 5665 Wt M 570. 000 kg
HIAE—R TT7111 JIS R 3301
JIS R 3301 1& 25. 000 kg
b5 TT7110
X AR 25. 000 kg
L2 TT0002

L
e T#O1
%
7t P0000001
BN 721 P0000002
HEARER=1. 00X 1. 00=1
Him = X 1=
[5fF]
[A]l = 1 [XHE#XSS FEh [B] = 1 #HE Af
[C] = 1 JiLWg 5 TH& 15cm (D] = 1 &BMAE BAE 1. 5m
[E] = 1 & LHITXS (AKX [F] = 1  BEAKMESEICH T3 2546 PEKMESE CHRWEE
[G] = 1 BEHHEMXS B [H] = 1 HRRAASHIR 4
[1] = 1 FEREEE—Y VI-1-0-1

A LM




e B/MRIX JERAZ B R LE (DEi#R)

[ %

3 & i THAGZ (S7001-0002) ]

PCm#R () B E L (FEh) #e: A

1,000.000 m %9

(Rl , i CiE 15cm )

4 wmoo- #l ¥ # & BAAT B i & % A BT 2 i | L2
AR (A [FR) TTBO41_M R T P T S RS ) B
15cm 1, 000. 000 m
B~ R TT7104 JIS K 5665 3f&
3FELE JIS K 5665 Wt M 570. 000 kg
HIAE—R TT7111 JIS R 3301
JIS R 3301 1& 25. 000 kg
b5 TT7110
X AR 25. 000 kg
X TT0002

L
e T#O1
%
7t P0000001
BN 721 P0000002
HEARER=1. 00X 1. 00=1
Him = X 1=
[5fF]
[A] = 2 [XH#RXS Bl = 1 #E AW
[C] = 1 FELI& Hi TIE 15cm [D] = 1 BAFE BAAE 1. 5mn
[E] = 1 & LHITXS (AKX [F] = 1  BEAKMESEICH T3 2546 PEKMESE CHRWEE
[G] = 1 BEHHEMXS B [H] = 1 HRRAASHIR 4
[1] = 1 FEREEE—Y VI-1-0-1

10

A LM




e B/MRIX JERAZ B R LE (DEi#R)

[ 5 4 5 jii THAHZR (52580-0001) ]

ASEAEEEfE BB BlE AL 2A 1.000 H %9
4 wmoo- #l ¥ g & BAAT B i & % A BT 2 i | L2
TR B B TR2580
A
7 P0000001
BN47- 0 P0000002
[5fF]
[A] = 2 TAE Zcimihafi BB [B] = 2.000 Bl A (B EERL A H]
[c] = 0.000 REEEIANH] [D] = 1 FEREEE—Y I1-5-21-1
RN

11




